MTH 265, Quiz #11, Summer 2021 Name K E Y

Instructions: Show all work. Use exact answers unless specifically asked to round. Be sure to complete
all parts of each question.

1. Find the value of the work done in the vector field F(x, ¥,2)=Qx=yi+(z-y)j+

(y — 32%)k on the path #(¢) = t2f — tj + 3tk on the interval [0,1]. If the field is conservative,
use the fundamental theorem of line integrals. Slx-yd.x s X2 Xy
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2. Use Green’s Theorem to find the value of the line integral fc (x —y)dx + (2x - 3
the boundary of the rectangle with the vertices (0,0), (3,0), (3,4), (0,4), clockwise.
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3. Find the value of the surface integral [ fs F - NdS for the function 9gx,y,z2)=x+y+zon
the sphere x% + y2 + 22 = 1. (Use the back of the page.)
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